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To understand why we should be concerned about how young people read, it helps to know
something about the way the ability to read evolved. Unlike the ability to understand and produce
spoken language, the ability to read must be painstakingly (1) by each individual. The
“reading circuits” we construct in the brain can be  (2)  or they can be robust, depending on
how often and how (3) we use them.



A) acquired I) intimate

B) actually J) notwithstanding
C) attachment K) petition

D) cheated L) rather

E) engaged M) scarcely

F) feeble N) swayed

G) illicit O) vigorously

H) insistent
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[F] Younger people today mostly accept that they will have to work for longer and that

their pensions will be less generous. Employers still need to be persuaded that older
workers are worth holding on to. That may be because they have had plenty of




younger ones to choose from, partly thanks to the post-war baby-boom and partly
because over the past few decades many more women have entered the labour force,
increasing employers’ choice. But the reservoir of women able and willing to take up
paid work is running low, and the baby-boomers are going grey.
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Chinese New Year is the most important traditional festival in China, and it is also known as
the Spring Festival. ( 3315 &4)1%:)

Chinese New Year, which is also known as the Spring Festival, is the most important
traditional festival in China. ( EM&E &§5)7%)

Chinese New Year is the most important traditional Chinese festival. It is also known as the
Spring Festival in China. (§f434:)

AT LB T A

Chinese New Year, also known as the Spring Festival, is the most important traditional
festival in China.
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The Qixi Festival, also known as “the Double Seventh Festival” or “the Qigiao Festival™ |
which falls on the seventh day of the seventh lunar month, is the most romantic festival among
all Chinese traditional festivals. It is originated from a folk legend — the love story between the
Cowherd and the Weaver Maid. As it is related to love, it is now regarded as the Chinese
Valentine’s Day by urban youths.
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Part 1 Writing (30 minutes)

Directions: For this part, you are allowed 30 minutes to write a short essay entitled The Impact
of the Internet on Interpersonal Communication. Your essay should start with a
brief description of the picture. You should write at least 150 words but no more
than 200 words. Write your essay on Answer Sheet 1.

R WA EEEF 1 LS.

Part 11 Listening Comprehension (30 minutes)

Section A

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the
end of each conversation, one or more questions will be asked about what was said.
Both the conversation and the questions will be spoken only once. After each
question there will be a pause. During the pause, you must read the four choices
marked A), B), C) and D), and decide which is the best answer. Then mark the
corresponding letter on Answer Sheet 1 with a single line through the centre.
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1. A) The man bought chocolate for the woman.
B) The doctor gave the woman some chocolate.
C) The doctor asked the woman not to eat chocolate for 3 days.
D) The woman didn’t like chocolate.

2. A) News offered on radio is very influential.
B) Newspaper articles seem impersonal compared with those offered on radio.
C) Newspaper writers prefer descriptive words to other words.
D) People like radio more than newspaper.

3. A) The man mixed the book with other books.
B) It is possible for the man to hold the book.
C) The man can not renew this book.
D) The book is not available because it is due.

4. A) The woman doesn’t know what time it is.
B) The man will go in an alternative route.
C) The woman worries about the traffic jam.
D) The woman worries about being late to check in at the airport.

5. A) The hotel can meet the demand of the man.
B) The hotel will have a large party next month.
C) The hotel declines the man’s request.
D) The hotel is holding a large international conference.

6. A) The man wants to become a policeman to maintain the order.
B) The man was disappointed with the traffic.
C) The man was late for nearly one hour.
D) The man wants to become the mayor of the city.

7. A) The man was tired of dealing with the complaint from clients.
B) The man thought it hard to solve the problem.
C) The man spent more than an hour solving the problem.
D) The man was tied up with the complaint the whole day.

8. A) History books deal with the past, the present and the future.
B) History books do not relate the present to the past.
C) History books give people perspective on the future.
D) History books are outdated because they are nothing but facts.



Questions 9 to 11 are based on the conversation you have just heard.

9. A) The mechanic doesn’t have a good assistant.
B) The car is an older model that the mechanic hasn’t seen before.
C) The mechanic is not available to assess the problem.
D) The mechanic doesn’t have the proper tools to check the problem.

10. A) $50. B) $125. C) $100. D) $7s.

11. A) It is too expensive to get her car repaired in the town.
B) It is not so expensive to repair her car as she has thought.
C) She has to repair the car herself because repairing cars is very expensive.
D) She has to go on her journey with her arms and legs.

Questions 12 to 15 are based on the conversation you have just heard.

12. A) The man’s personal information.
B) The application for H-3 visa.
C) The training program.
D) The US Immigration.

13. A) She works in the US Immigration Office.
B) She is running a training program.

C) She knows some information about the application of H-3 visa.
D) She works abroad.

14. A) Bring with the passport.
B) Explain the training program.
C) Apply to the council.
D) Report to the US Immigration Office.

15. A) His family members. B) Education background.
C) Work experience. D) The necessity to be trained.
Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will
hear some questions. Both the passage and the questions will be spoken only once.
After you hear a question, you must choose the best answer from the four choices
marked A), B), C) and D). Then mark the corresponding letter on Answer
Sheet 1 with a single line through the centre.
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Passage One

Questions 16 to 19 are based on the passage you have just heard.

16. A)
B)
C)
D)

17. A)
B)
C)
D)

18. A)
C)

19. A)
B)
C)
D)

New cars in 2050 will be faster and safer.

New cars in 2050 will abandon the traditional internal combustion engine.
New cars in 2050 consume much less fuel than today.

New cars in 2050 will be cheap to buy.

Change or make a large number of cars and trucks to run on natural gas.
Reduce the number of the cars.

Build a large network of natural-gas stations.

Improve the quality of the engine.

Be optimistic. B) Be cautious.
Be critical. D) Be biased.

Improve the efficiency of conventional vehicles.

Encourage the development of cars that run on biofuels and electricity.
Utilize hydrogen energy.

Reduce the weight of vehicle.

Passage Two

Questions 20 to 22 are based on the passage you have just heard.

20. A)
C)

21. A)
B)
C)
D)

22. A)
B)
C)
D)

Start a business. B) Buy lottery tickets.
Buy more insurance. D) Work longer.

Many Americans are living longer and have made good plans for retirement in advance.
The current workers stop working at age 70.

More Americans are planning to work longer.

47 percent of workers end up leaving the job due to disabilities.

It is impossible because it is not illegal.

It is not realistic due to health issues or problems at work.
It is a kind of lifestyle popular among the elderly.

It is their choice in the current society.

Passage Three
Questions 23 to 25 are based on the passage you have just heard.

23. A)
B)

They increase the pleasure smokers get from nicotine in tobacco.
They are energy-saving since it only needs a small battery.



C) They take away the poisonous part of smoking from the nicotine.
D) They are nicotine-free device.

24. A) They do no damage to smokers.
B) They cause no public annoyance.
C) They smell not so bad.
D) They are safe to bystanders.

25. A) They think electronic cigarettes equal to real cigarettes.
B) They believe flavourings added to electronic cigarettes may attract more children to
smoke.
C) They think electronic cigarettes lead to the expansion of the cigarette market.
D) They believe people can keep healthy only by stopping burning electronic cigarettes.

Section C

Directions: [n this section, you will hear a passage three times. When the passage is read for
the first time, you should listen carefully for its general idea. When the passage is
read for the second time, you are required to fill in the blanks with the exact words
you have just heard. Finally, when the passage is read for the third time, you
should check what you have written.

EE: MBS EERF 1 B,

It is one of the most terrifying moments for any urban cyclist; the first time a huge, high-
sided construction truck lumbers alongside, the driver =~ 26  within their lofty cab. Now a
leading cycling group hopes it has come up with a solution — the 27  lorry.

The draft design, to be 28 on Wednesday by the London Cycling Campaign, reduces

the overall height of the lorry, especially the driving position, and greatly 29  the side
windows of the cab, stretching them as close to road level as possible. While drivers of the
traditional lorry have to rely on mirrors and sensors to 30  cyclists or pedestrians close to the
front offside of the vehicle, if they can detect them at all, the new design all but 31 this
blind spot.
' Itis 32  a big issue, especially in London, where lorries form about 5% of vehicle
traffic but are responsible for about half of all cyclist deaths, with a preponderance of these
involving construction lorries, often turning left into a cyclist. In 2011, of the 16 cyclist deaths
in London, nine involved lorries, of which seven were construction vehicles.

If elements of the London Cycling Campaign’s design look familiar that’s because they’re
already in use — many 33  rubbish lorries already feature low-silled glass doors, allowing the
drivers to look out for both staff collecting bins and other pedestrians. This demonstrated how
construction companies could change if they wanted to.

A study released last month by Transport for London said construction trucks were
disproportionately 34 cyclist accidents and recommended measures such as giving drivers

-9-



delivering goods to building sites more realistic time slots to avoid them 35  recklessness.

Part 111 Reading Comprehension (40 minutes)

Section A

Directions: In this section, there is a passage with ten blanks. You are required to select one
word for each blank from a list of choices given in a word bank following the
passage. Read the passage through carefully before making your choices. Each
choice in the bank is identified by a letter. Please mark the corresponding letter for
each item on Answer Sheet 2 with a single line through the centre. You may not
use any of the words in the bank more than once.

Questions 36 to 45 are based on the following passage.

Oil is the 36 that lubricates the world’s economy. Because so many of our modern
technologies and services depend on oil, nations, corporations, and 37 that control the trade

in oil exercise extraordinary power. The “energy crisis” of 1973 —1974 in the United States
38  how the price of oil can affect U. S. government policies and the energy-using habits of
the nation.

By 1973, domestic U. S. sources of oil were peaking, and the nation was importing more of
its oil, depending on a constant flow from abroad to keep cars on the road and machines 39 .
In addition, at that time a greater percentage of homes and electrical plants were run on
petroleum than today. Then, in 1973, the predominantly Arab nations of the Organization of
Petroleum Exporting Countries ( OPEC) resolved to stop selling oil to the United States. The
move was prompted by OPEC’s desire to raise prices by restricting supply and by its opposition to
U.S. support of Israel in the Arab-Israeli Yom Kipper War. The embargo ( #:iz ) created

40 in the West and caused oil prices to shoot up. Short-term oil shortage drove American
consumers to wait in long lines at gas pumps.

In response to the embargo, the U. S. government 41  a series of policies designed to
reduce 42 on foreign oil. These included developing additional domestic sources ( such as
those on Alaska’s North Slope) , resuming extraction at sites that had been shut down because of
cost inefficiency, capping the price that domestic producers could charge for oil, and beginning
to import oil from a greater 43  of nations. The government also established a stockpile (&
4 ) of oil as a short-term buffer ( 4% 7 ) against future shortages. Stored underground in large salt
caves in Louisiana, this stockpile is called the Strategic Petroleum Reserve, and 44 contains
over 600 million barrels of oil, roughly 45 to one month’s supply.

HEE R BB 2 L%
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A) panic I) diversity
B) demonstrated J) import
C) domestic K) currently
D) substance L) institutions
E) exactly M) running
F) reliance N) effective
G) consuming O) enforced
H) equivalent
Section B

Directions: [In this section, you are going to read a passage with ten statements attached to it.

[A]

[C]

Each statement contains information given in one of the paragraphs. Identify the
paragraph from which the information is derived. You may choose a paragraph
more than once. Each paragraph is marked with a letter. Answer the questions by
marking the corresponding letter on Answer Sheet 2.

Google’s Plan for World’s Biggest Online Library :
Philanthropy Or Act of Piracy?

In recent years, teams of workers dispatched by Google have been working hard to make
digital copies of books. So far, Google has scanned more than 10 million titles from
libraries in America and Europe — including half a million volumes held by the Bodleian in
Oxford. The exact method it uses is unclear; the company does not allow outsiders to
observe the process.

Why is Google undertaking such a venture? Why is it even interested in all those out-of-
print library books, most of which have been gathering dust on forgotten shelves for
decades? The company claims its motives are essentially public-spirited. Its overall
mission, after all, is to “organise the world’s information” , so it would be odd if that
information did not include books.

The company likes to present itself as having lofty aspirations. “ This really isn’t about
making money. We are doing this for the good of society. ” As Santiago de la Mora, head
of Google Books for Europe, puts it: “By making it possible to search the millions of
books that exist today, we hope to expand the frontiers of human knowledge. ”

Dan Clancy, the chief architect of Google Books, does seem genuine in his conviction that
this is primarily a philanthropic ( #-%#7) exercise. “Google’s core business is search and
find, so obviously what helps improve Google’s search engine is good for Google,” he
says. “But we have never built a spreadsheet ( ¥ -F % 4% & ) outlining the financial
benefits of this, and I have never had to justify the amount I am spending to the company’s
founders. ”

It is easy, talking to Clancy and his colleagues, to be swept along by their missionary
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